**Service Provider:** Tigers Childcare - Pembroke

Programme Year: 2023/2024

Status: Active

## **Fee Options**

Fee Type Name	Age Range	ELC/SAC	ECCE Available ?	Session Start Time	Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs per Day	Days per Week	Hrs per Week	Full Fee	Fee (including ECCE - 3 Hours)	Effective From	Effective To
Day Care Under 2	0y 6m - 2y	ELC/SAC	No	07:30	18:00	Yes	Meal	Weekly fees €231.63 Fees are paid in equal monthly installments via direct debit.  Monthly fee €926.50 over 51 weeks.	10.5	5	52.5	231.63	231.63	04/12/2023	
Day Care Under 2	0y 6m - 1y	ELC/SAC	No	07:30	18:00	Yes	Meal	Weekly fees €208.25 Fees are paid in equal monthly installments via direct debit. Monthly fee €833.00 over 51 weeks.	10.5	4	42	208.25	208.25	04/12/2023	
Day Care Under 2	0y 6m - 1y	ELC/SAC	No	07:30	18:00	Yes	Meal	Weekly fee €172.12 Fees are paid in equal monthly installments via direct debit. Monthly fee	10.5	3	31.5	172.12	172.12	04/12/2023	

	ı	I	1	1	I	1	1	T	1	1	I		1		
								€688.50 over							
								51 weeks.							
Day Care	0y 6m -	ELC/SAC	No	07:30	18:00	Yes	Meal	Weekly fee	10.5	2	21	114.75	114.75	04/12/2023	
Under 2	1y							€114.75 Fees							
								are paid in							
								equal							
								monthly							
								installments							
								via direct							
								debit.							
								Monthly fee							
								€ 459.00over							
								51 weeks.							
	0 0	510/010	<b>.</b>	07.00	10.00				10.5	-	10.5		57.07	0.4/4.0/0.000	
Day Care	0y 6m -	ELC/SAC	No	07:30	18:00	Yes	Meal	Weekly fee	10.5	1	10.5	57.37	57.37	04/12/2023	
Under 2	1y							€57.37 Fees							
								are paid in							
								equal							
								monthly							
								installments							
								via direct							
								debit.							
								Monthly fee							
								€229.50 over							
								51 weeks.							
Day Care	0y 6m -	ELC/SAC	No	14:00	18:00	Yes	Meal	Weekly fees	4	5	20	132.81	132.81	04/12/2023	
Under 2-	2y	',						€132.81 Fees						' ' ' '	
Partime	-,							are paid in							
Afternoo								equal							
ns								monthly							
113								installments							
								via direct							
								debit.					1		
								Monthly fee							
								€531.25 over							
<u> </u>			<b> </b>				ļ., ,	51 weeks.	ļ	1					
Day Care	0y 6m -	ELC/SAC	No	14:00	18:00	Yes	Meal	Weekly Fee €	4	4	16	106.25	106.25	04/12/2023	
Under 2-	2у							106.25 Fees					1		
Partime								are paid in							
Afternoo								equal					1		
ns								monthly							
								installments							
								via direct							
								debit.					1		
								Monthly fee							
								€425.00 over							
								51 weeks.							
		1	1	1	1	1	1		1	1	1	1	I .		

Day Care Under 2- Partime Afternoo ns	0y 6m - 2y	ELC/SAC	No	14:00	18:00	Yes	Meal	Weekly fees €79.69 Fees are paid in equal monthly installments via direct debit. Monthly fee €318.75 over 51 weeks.	4	3	12	79.69	79.69	04/12/2023	
Day Care Under 2- Partime Afternoo ns	0y 6m - 2y	ELC/SAC	No	14:00	18:00	Yes	Meal	Weekly fee €53.12 Fees are paid in equal monthly installments via direct debit. Monthly fee €212.50 over 51 weeks.		2	8	53.12	53.12	04/12/2023	
Day Care Under 2- Partime Morning S	0y 6m - 2y	ELC/SAC	No	07:30	13:00	Yes	Meal	Weekly fee €140.25 Fees are paid in equal monthly installments via direct debit.  Monthly fee €561.00 over 51 weeks.		4	22	140.25	140.25	04/12/2023	
Day Care Under 2- Partime Morning S	0y 6m - 2y	ELC/SAC	No	07:30	13:00	Yes	Meal	Weekly fee €175.31 Fees are paid in equal monthly installments via direct debit. Monthly fee €701.25 over 51 weeks.		5	27.5	175.31	175.31	04/12/2023	
Day Care Under 2- Partime	0y 6m - 2y	ELC/SAC	No	07:30	13:00	Yes	Meal	Weekly fees €70.12 Fees are paid in	5.5	2	11	70.12	70.12	04/12/2023	

	1	1	T	1		T	1			1		1	T		1
Morning								equal							
S								monthly							
								installments							
								via direct							
								debit.							
								Monthly fee							
								€280.50 Over							
								51 weeks.							
Day Care	0y 6m -	ELC/SAC	No	07:30	13:00	Yes	Meal	Weekly fees	5.5	1	5.5	35.06	35.06	04/12/2023	
Under 2-	2y	LLC/JAC	140	07.50	15.00	163	IVICAI	€35.06 Fees	5.5	-	3.5	33.00	33.00	04/12/2023	
Partime	<sup>2</sup> y							are paid in							
Morning								equal							
S								monthly							
								installments							
								via direct							
								debit.							
								Monthly fee							
								€140.25 over							
								51 weeks.							
Day Care	0y 6m -	ELC/SAC	No	07:30	13:00	Yes	Meal	Weekly fee	5.5	3	16.5	105.19	105.19	04/12/2023	
Under 2-	2y							€105.19 Fees						, ,	
Partime	-,							are paid in							
Morning								equal							
S								monthly							
3								installments							
								via direct							
								debit.							
								Monthly fee							
								€420.75 over							
								51 weeks.							
Part	3y - 5y	ELC/SAC	Yes	14:00	18:00	Yes	Meal	Weekly fee	4	5	20	122.19	57.69	04/12/2023	
Time								122.19Fees							
Junior								are paid in							
Active								equal							
Cubs/Act								monthly							
ive Cubs								installments							
(Afterno								via direct							
ons)								debit.							
0113)			1					Monthly fee							
								6400 75							
								€488.75 over							
<u> </u>			1	1	1	1	1	51 weeks.		1	1		1.0.15		
Part	3y - 5y	ELC/SAC	Yes	14:00	18:00	Yes	Meal	Weekly fees	4	4	16	97.75	46.15	04/12/2023	
Time								€97.75 Fees							
Junior								are paid in							
Active								equal							
Cubs/Act								monthly							
ive Cubs								installments							
	1				1	1	1			1	1		1	1	

( ) ( )	ı	1	ı	1	1	1		I		1	1	I	1		
(Afterno								via direct							
ons)								debit.							
								Monthly fee							
								€391.00 over							
								51 weeks.							
Part	3y - 5y	ELC/SAC	Yes	14:00	18:00	Yes	Meal	Weekly fees	4	3	12	73.31	34.61	04/12/2023	
Time								€73.31 Fees							
Junior								are paid in							
Active								equal							
Cubs/Act								monthly							
ive Cubs								installments							
(Afterno								via direct							
ons)								debit.							
								Monthly fee							
								€293.25 over							
								51 weeks.							
Part	3y - 5y	ELC/SAC	Yes	14:00	18:00	Yes	Meal	Weekly fees	4	2	8	48.75	22.95	04/12/2023	
Time								€48.75 Fees							
Junior								are paid in							
Active								equal							
Cubs/Act								monthly							
ive Cubs								installments							
(Afterno								via direct							
ons)								debit.							
51.15,								Monthly fee							
								€195.50 over							
								51 weeks.							
Part	3y - 5y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fees	10.5	3	31.5	71.36	32.66	04/12/2023	
Time	3, 3,	220,5710	1.63	07.50	10.00	163	Wicai	€71.36 Fees	10.5		31.3	71.50	32.00	0 1, 12, 2023	
Junior								are paid in							
Active								equal							
Cubs/Act								monthly							
ive Cubs								installments							
(Morning								via direct							
								debit.							
s)								1							
								Monthly fee							
								€285.45 over							
5005	2 -	510/010	ļ.,	00.00	10.00			51 weeks.		<u> </u>	15	76.04		0.4/4.0/0.000	
ECCE	3y - 5y	ELC/SAC	Yes	09:30	12:30	No		Weekly fees	3	5	15	76.24	0	04/12/2023	
Sessional								€76.24 Fees							
AM Class								are paid in							
(No								equal							
capitatio								monthly							
n)								installments							
								via direct							
								debit.							
								Monthly fee							

	I	I	1	I	I	I	1	T	I		1	I	1		
								€304.95 over							
								51 weeks.							
Aftersch ools (1/1:30p m-6pm)	5y - 12y	ELC/SAC	No	13:30	18:00	Yes	Meal	Weekly Fee 146.09 Fees are paid in equal monthly	4.5	5	22.5	146.09	0	04/12/2023	
								installments via direct debit. Monthly fee €584.38 over 51 weeks.							
Part- Time Junior Active Cubs/Act ive Cubs(Mo rnings)	3y - 5y	ELC/SAC	Yes	07:30	13:00	Yes	Meal	Weekly fees €118.94 Fees are paid in equal monthly installments via direct debit. Monthly fee €475.75 over 51 weeks.		5	27.5	118.94	54.44	04/12/2023	
Part Time Junior Active Cubs/Act ive Cubs (Morning s)	3y - 5y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fees €48.32 Fees are paid in equal monthly installments via direct debit. Monthly fee €190.30 over 51 weeks.		2	21	48.32	22.52	04/12/2023	
Day Care over 2	2y - 3y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fees €226.31 Fees are paid in equal monthly installments via direct debit. Monthly fee € 905.25over 51 weeks.	10.5	5	52.5	226.31	161.81	04/12/2023	

Junior Active Cubs/Act ive Cubs	Зу - 5у	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fee €95.15 Fees are paid in equal monthly installments via direct debit. Monthly fee €544.00over 51 weeks.	10.5	4	42	95.15	43.55	04/12/2023	
Junior Active Cubs/Act ive Cubs	3y - 5y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fees €175.25 Fees are paid in equal monthly installments via direct debit.  Monthly fee €905.25 over 51 weeks.	10.5	5	52.5	175.25	110.75	04/12/2023	
Aftersch ools (2:30pm- 6pm)	5y - 12y	ELC/SAC	No	14:30	18:00	Yes	Meal	Weekly fees €132.81 Fees are paid in equal monthly installments via direct debit.  Monthly fee €531.25 over 51 weeks.	3.5	5	17.5	132.81	0	11/12/2023	
Part Time Junior Active Cubs/Act ive Cubs (Morning s)	3y - 5y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fees €95.15 Fees are paid in equal monthly installments via direct debit.  Monthly fee €380.60 over 51 weeks.	10.5	4	42	95.15	43.55	11/12/2023	
Junior Active	3y - 5y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fees €175.25 Fees are paid in	10.5	5	52.5	175.25	110.75	11/12/2023	

Cubs/Act								equal							
ive Cubs								monthly installments							
								via direct							
								debit.							
								Monthly fee							
								€701.00over							
								51 weeks.							
Junior	3y - 5y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fees	10.5	3	31.5	133.3	94.6	11/12/2023	
Active								€133.30 .							
Cubs/Act								Fees are paid							
ive Cubs								in equal							
								monthly							
								installments							
								via direct debit.							
								Monthly fee							
								€553.20 over							
								51 weeks.							
Junior	3y - 5y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fee	10.5	2	21	112.62	86.82	11/12/2023	
Active	", ",	220,0710		07.00	20.00			€112.62.	20.5	-		112.02	00.02	11, 12, 2020	
Cubs/Act								Fees are paid							
ive Cubs								in equal							
								monthly							
								installments							
								via direct							
								debit.							
								Monthly fee							
								€450.50 over							
								51 weeks.							
Part	3y - 5y	ELC/SAC	Yes	07:30	18:00	Yes	Meal	Weekly fees	10.5	3	31.5	71.36	32.66	11/12/2023	
Time								€71.36 Fees							
Junior								are paid in							
Active								equal							
Cubs/Act								monthly							
ive Cubs								installments via direct							
(Morning								via direct debit.							
s)								Monthly fee							
								€285.45 over							
								51 weeks.							
		1	1	1	1	l	I .	52 WCCN3.		I	l	I			

## Fee Extras

Type Extras Amount Description	Additional Details/Conditions	Effective From	Effective To
--------------------------------	-------------------------------	----------------	--------------

Deposit	276	ECCE Sessional Class: A deposit of €276 is required	06/11/2023
		for children who qualify for the ECCE scheme and	
		start with Tigers Childcare from October 2023. This	
		will be refunded in line with the ECCE guidelines.	
Deposit	500	A booking deposit, of €500.00 per child is required.	21/08/2023
		The balance of the deposit will be held on account	
		for the duration of child's enrollment at Tigers	
		Childcare. If your Child is offered a place and doesn't	
		commence at the service your deposit will be	
		forfeited	
Discount		Staff discounts are granted at the discretion of the	21/08/2023
		company. Discounts will vary depending on seniority	
		of the staff member.	
Discount		5% sibling discount is available to families availing of	21/08/2023
		full-time care for two or more children. Discount	
		applies to second & subsequent children only.	
Deposit	65	ECCE Sessional Class: A deposit of €65 is required for	06/11/2023
		children who qualify for the ECCE scheme until the	
		end of September 2023. This will be refunded in line	
		with the ECCE guidelines.	
Deposit	304.95	ECCE Sessional Class: For children who do not	04/12/2023
		qualify for the ECCE scheme a deposit of €304.95 is	
		required. Refundable once the ECCE place is taken	
		up	